FUNDING MOTION

COMMITTEE: Exfin

TITLE: Community Improvement Project [CIP]: Venice Blvd. Bistro Lighting

PURPOSE: On Venice Blvd. and Centinela, there's a broken line of lights and dangling airline cable hanging from a tree. At Venice Blvd. and Grandview, none of the bistro lights are working, and at Venice Blvd. and Centinela, only some bulbs are functional. This proposal seeks funding for upgrades to the market lights on Venice Blvd. in Mar Vista to improve and repair installed bistro lighting.

THE MOTION:

The MVCC approves a Community Improvement Project to repair lighting on Venice Blvd. in the amount of \$8,863.73

ACTION/VOTE COUNT:

MVCC Exfin Meeting, April 8th, 2024

Motion of moved by Director XXX, seconded by Director XXX

Motion approved by MVCC Exfin XX-XX-XX



SALES REP: Frankie Morales PHONE: (310) 270-8124

EMAIL: frankie@polarbearlighting.com

QUOTE

DATE: 3/14/24

BUSINESS: 11th District, City of L.A.

CONTACT: Ashley Lozada

ADDRESS: 7166 W. Manchester

Los Angeles, CA 90045

DIRECT PHONE: (310) 568-8772 EMAIL: ashley.lozada@lacity.org

SCOPE OF WORK

Qty.	ltem	Location for Installation	Price Ea	Price Each		Total Cost	
600	S14 facetetd warm white bistro light bulbs	Mar Vista	\$ 5	.00	\$	3,000.00	
7	Commercial-grade bistro lighting spool	Mar Vista	\$ 150	.00	\$	1,050.00	
1	Airline cable replacement	Mar Vista	\$ 125	.00	\$	125.00	
4	Heavy-duty extension cords	Mar Vista	\$ 45	.00	\$	180.00	
4	Photocells	Mar Vista	\$ 250	.00	\$	1,000.00	
2	Labor package for installing the lights	Mar Vista	\$ 1,500	.00	\$	3,000.00	
		Subtotal Goods			\$	5,355.00	
		Tax on Goods	9.5	50%	\$	508.73	
		Labor/Non-Taxable			\$	3,000.00	
		Grand Total			\$	8,863.73	

CORPORATE HQ: 6253 HOLLYWOOD BLVD., SUITE 506, HOLLYWOOD, CA 90028 WAREHOUSE: 160 W. SLAUSON AVE., SUITE 5, LOS ANGELES, CA 90003

POLARBEARLIGHTING.COM



All lights here on Venice at Grandview are broken and non-working.



Partial lines and bulbs are out here at Venice and Centinela.



URGENT: There is a broken line of lights and airline cable dangling from a tree. Location - Venice Blvd. and Centinela West.